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https://www.ted.com/talks/fei_fei_li_how_we_re_teaching_computers_to_understand_pictures?language=zh-tw
https://experiments.withgoogle.com/collection/ai
https://teachablemachine.withgoogle.com/
http://120.105.166.129/moodle/course/view.php?id=1504
https://playground.tensorflow.org/
https://ml4a.github.io/demos/
https://www.youtube.com/watch?v=Eeg1DEeWUjA&t=637s
https://data.gov.tw/
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http://120.105.166.129/moodle/course/view.php?id=1504
http://120.105.166.129/moodle/course/view.php?id=1504
https://snakify.org/teacher/
https://ime.mitust.edu.tw/var/file/12/1012/attach/80/pta_4085_9532796_38690.pdf
https://ime.mitust.edu.tw/var/file/12/1012/attach/80/pta_4086_6665239_38690.pdf
https://ime.mitust.edu.tw/var/file/12/1012/attach/80/pta_4083_5356188_37678.pdf
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& 1:30 - 2:00 9:00 - 10:00 13:00 - 15:30
MODBUS E
. limport numpy as np
HiflGateway import matplotlib.pyplot as plt
import math i
sin_wave = np.array([math.sin(x/40) for x in np.arange(400)]) 1.00
Epoch: 1, Loss: [[2350935.69278512]] , Val Loss: [[927696.52594006]] Ix=0 0.75 -
Epoch: 2, Loss: [[73963.05360936]] , Val Loss: [[29291.40535965]] N '
Epoch: 3, Loss: [[229.58037859]], Val Loss: [[60.38007568]] Y=
Epoch: 4, Loss: [[218.2121555]], Val Loss: [[58.35405614]] wa 0.50 -
Epoch: 5, Loss: [[210.4298208]], Val Loss: [[56.06385564]] Iseq len=2 .
Epoch: 6, Loss: [[203.107395]], Val Loss: [[53.8821175]] _ . )
Epoch: 7, Loss: [[196.10689658]] , Val Loss: [[51.80104497]] {num_records = len(sin_wave) - seq_len
Epoch: 8, Loss: [[189.40832203]], Val Loss: [[49.8150588]] - 0.25 A
Epoch: 9, Loss: [[182.99551857]] , Val Loss: [[47.91898758]] for i in range(num_records - seq_len):
Epoch: 10, Loss: [[176.85337802]], Val Loss: [[46.10798241]] X.append(sin_wave[i:i+seq len]) 0.00
Epoch: 11, Loss: [[170.96771524]], Val Loss: [[44.3774935]] i LS : . T
Epoch: 12, Loss: [[165.32520474]] , Val Loss: [[42.72324973]] Y.append(sin_wave[i+seq_len])
Epoch: 13, Loss: [[159.91332288]], Val Loss: [[41.14123973]]
Epoch: 14, Loss: [[154.72029434]], Val Loss: [[39.62769441]] X = np.array(X) —0.25 A
Epoch: 15, Loss: [[149.73504253]], Val Loss: [[38.17907075]] X = np.expand_dims(X, axis=2)
Bpoch: 16, Loss: [[144.9471435]], Val Loss: [[36.79203676]] -
Epoch: 17, Loss: [[140.34678334]], Val Loss: [[35.46345751]] _ —0.50
Epoch: 18, Loss: [[135.92471843]], Val Loss: [[34.19038224]] Y =np.array(Y) ] )
Epoch: 19, Loss: [[131.6722387]], Val Loss: [[32.97003234]] Y =np.expand_dims(Y, axis=1)
Epoch: 20 , Loss: [[127.5811334]], Val Loss: [[31.79979015]] —0.75 -
Epoch: 21, Loss: [[123.64365928]] , Val Loss: [[30.67718866]]
Epoch: 22, Loss: [[119.85251102]] , Val Loss: [[29.59990182]] X.shape, Y.shape
Epoch: 23, Loss: [[116.20079369]] , Val Loss: [[28.56573559]] ~1.00-
Bpoch: 24, Loss: [[112.68199715]], Val Loss: [[27.57261962]] X val=1] . . . . . . . . .
Bpoch: 25, Loss: [[109.28997214]], Val Loss: [[26.61859946]] Y val=[] 0 25 50 75 100 125 150 175 200




